x_,]o Z¥o — [[H I=R=1P§ = =
BA ] =
X 0,1 2
, ’301
=
,TT]
3x —
2>
1—’] OHF_'
:rLE)}-Oqa'

\4
mn

i

\Y
vV V
0
i
=
|

0
g
=

|
w

=0
o,
~ 3 X
X = i -
2 X -
3:—@1’3 L 2>1
] %9 — e )
e . 1(7{11/\)
_2:7>1(7§)/\)
>1 (%
)




B
™
1
w_a

Plo
o+

T

Njo

ol

@ x+3(x+5)-1

@3+4x

1 1
_>_
2 3

@—x+

>

@ §+7:x—5

® 6-2x+4=x-3




A7 ol o] EAo= 23000 Do) o] 2t miE 3000 YA o
25t g o, Zho] 50000 Y= 7= AL 2 Y THE
21712

® 8744 @ 9744 (© K

@ 11 7/H<¥ ® 12 14

~&B ~

NE 5 7 Eol2t 5td

23000 + 3000x > 50000

x>9

10 7HE S5E oAlgFHo] 50000 H-& Hi=th




4412 WA

=

AHTE Atk g}, o

D1,2
@ 5,6

B

3x>x+7

FAH1E BAA e o) &




700 ¢ A2] A IR} 500 9 A2] B WAk gete] 10 E AR,
ZFe] 6000 ¢ 23} 7000 Y o]571 © A she] T gt BB gho 2 200
ol AT A= Fdf D A7A] A 5 A=A Fstolet

> E. M

A IS x 7 3t o ¥ B #A= (10 — x) HE 4
6000 < 700x + 500(10 — x) + 200 < 7000

8 <2x<18

4<x<9

whakA] ATHARE 2 9 A7HA AF 4 Sk,




